

$$d = \frac{a_1 - a_2}{r - 1} = \frac{91 - 40}{4 - 1} = \frac{51}{3} = 17$$

$$n = 25$$

(۲)

$$a_n = a_1 + (n-1)d$$

$$2n = 40 + (n-1)17 = 17n + 23$$

$$17n + 23 = 2n$$

$$15n = 17a$$

$$100 \leq 17n + 23 \leq 999 \quad \text{نقدار } n = (142 - 14) + 1 = 129$$

(۲)

$$97 \leq 17n \leq 997$$

$$14 \leq n \leq 142$$

$$a_n = a_1 + (n-1)d \Rightarrow 2 + (n-1)(-2) = 1 - 2n$$

$$a_{n+1} + a_{n+2} + a_{n+3} = (a_1 + nd) + (a_1 + (n+1)d) + (a_1 + (n+2)d)$$

$$= 3a_1 + 3nd + 3d = -2n + 12 \quad \xrightarrow{n=2} \quad 3a_1 + 6d = 0$$

$$\xrightarrow{n=1} \quad 3a_1 + 4d = 4 \quad \begin{cases} 3a_1 + 6d = 0 \\ 3a_1 + 4d = 4 \end{cases} \quad \begin{aligned} 2d &= -4 \\ d &= -2 \\ a_1 &= 4 \end{aligned}$$

$$a_8 = 1 - 14 = -13$$

$$a_{17} = 1 - 24 = -23$$

$$a_8 + a_{17} = -13 - 23 = -36$$

(۲)

$$a_n = \frac{a_2 + a_{12}}{2} \Rightarrow 2a_n = a_2 + a_{12}$$

$$2(r^{n+1}) = (r^2 - 1) + (r^{12} - 1)$$

$$= r^{2n+2} = r^{12} + r^2 - 2$$

$$\Rightarrow r^2 = y$$

$$y^2 - y^2 + y - 2 \rightarrow y^2 - 2y - 2 = 0 \rightarrow (y-4)(y+1) = 0 \Rightarrow y = 4 = r^2 \quad x = 2$$

جمله سوم با جمله هفتم و جمله پنجم با جمله دوازدهم فاصله دارد

$$a^2 = 3$$

$$a_8 = 1$$

$$a_{12} = 13$$

$$13 + 1 + 3 = 17$$

(۲)

$$a_n = a_1 + (n-1)d$$

$$a_{10} = a_1 + 9d$$

$$a_{12} = a_1 + 11d$$

$$a_{12} - a_{10} = a_1 + 11d - a_1 - 9d = 2d = 5 \Rightarrow d = \frac{5}{2}$$

$$a_{10} + a_{12} = 2a_1 + 20d = 25$$

$$2a_1 + 20 \left(\frac{5}{2} \right) = 25$$

$$2a_1 = 25 - 50 \quad a_1 = -12.5$$

$$a_{21} = a_1 + 20d = -12.5 + 50 = 37.5$$

سوال گفته a_1 و a_{12} که
مساوی!

(۱)

$$S_n = \frac{n}{2} (a_1 + a_n)$$

$$S_n = n(a_1 + d)$$

$$S_{2n} = \frac{n}{2} (2(a_1 + d) + 2d)$$

$$S_{2n} = n(a_1 + 3d)$$

$$a(a_1 + d) = \frac{1}{2} \times n(a_1 + 3d)$$

$$1a(a_1 + d) = \frac{1}{2} \times n(a_1 + 3d)$$

$$2(a_1 + d) = (a_1 + 3d)$$

$$2a_1 + 2d = a_1 + 3d$$

$$2a_1 = d$$

$$a_2 = a_1 + d = a_1 + 2a_1 = 3a_1$$

$$a_2 = 3a_1$$

جمله دوم برابر جمله اول است ✓

$$t_n - t_{n-2} = 1a - 2d \quad d = a$$

$$t_9 - t_5 = (t_9 - t_5)(t_9 + t_5)$$

$$t_9 - t_5 = (a + 8d) - (a + 4d) = 4d = 4 \times a = 4$$

$$t_9 + t_5 = t_7 + t_7$$

$$t_9 - t_5 = 4 \times t_7 = 4 \times t_7 \quad \checkmark$$

$$a_1 = 2(1 - 4\sqrt{3}) = 2 - 8\sqrt{3}$$

$$a_n = 2 + \sqrt{3}$$

$$d = \frac{a_n - a_1}{n} = \frac{2 + \sqrt{3} - (2 - 8\sqrt{3})}{12} = \frac{9\sqrt{3}}{12} = \frac{3\sqrt{3}}{4} \quad \checkmark$$

$$a_{n-2} + 2 = a_{n-1} \quad n+1$$

$$a_1 = 2 \quad a_{n-1} = 2$$

$$a_{n-1} = a_1 + (n-2)d$$

$$2 = 2 + (n-2)d \Rightarrow 0 = (n-2)d$$

$$d = \frac{0}{n-2}$$

$$a_{n+1} = (a_1) + nd$$

$$\begin{cases} a_{n+1} = 2 + nd \\ a = n \left(\frac{1a}{n+1} \right) \end{cases} \times n-1$$

$$2(n-1) = 1 \times n$$

$$2n - 2 = n$$

$$n = 2$$

$$n = 2 \quad \checkmark$$

$$a_k = a_1 + (k-1)d$$

$$a_n + a_{n+2} = a_2 + a_{10}$$

$$(a_1 + (n-1)d) + (a_1 + (n+1)d) = a_2 + 10d$$

$$2a_1 + 2nd + 2d = 2a_1 + 10d$$

$$(2 + 2) - 10 = 2n + 2 = 10 \quad n = 4$$

$$n = 4 \Rightarrow a_n = 2a \frac{n}{2}$$

$$a_n = 2a$$

$$a_n = a_1 + nd$$

$$a_2 = a_1 + 2d$$

$$a_n = 0 \Rightarrow a_1 + (n-1)d = 0 \Rightarrow a_1 = -d$$

$$-d + (n-1)d = 0$$

$$(n-1)d = 0 \Rightarrow n = 1 \quad \checkmark$$

$$a_1 + nd = 2a_1 + 2d$$

$$a_1 = -d$$